Cryptography Homework: Enigma Simulator

Assigned: Monday, 7/25/05

Due: Friday, 7/29/05

Write a simulator for the Enigma. Your simulator should use the following three scramblers:

Scrambler #1:

	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher

	A
	N
	G
	K
	M
	X
	S
	M
	Y
	O

	B
	G
	H
	L
	N
	Y
	T
	V
	Z
	S

	C
	U
	I
	Q
	O
	H
	U
	B
	
	

	D
	W
	J
	I
	P
	A
	V
	F
	
	

	E
	J
	L
	E
	Q
	P
	W
	R
	
	

	F
	C
	K
	T
	R
	Z
	X
	D
	
	


Scrambler #2:
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher

	A
	D
	G
	N
	M
	V
	S
	K
	Y
	Q

	B
	T
	H
	Z
	N
	J
	T
	G
	Z
	I

	C
	F
	I
	X
	O
	E
	U
	O
	
	

	D
	H
	J
	R
	P
	S
	V
	U
	
	

	E
	P
	L
	B
	Q
	C
	W
	M
	
	

	F
	W
	K
	L
	R
	A
	X
	Y
	
	


Scrambler #3:
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher
	Plain
	Cipher

	A
	F
	G
	Q
	M
	H
	S
	A
	Y
	U

	B
	I
	H
	G
	N
	J
	T
	X
	Z
	W

	C
	N
	I
	M
	O
	L
	U
	Z
	
	

	D
	V
	J
	Y
	P
	P
	V
	K
	
	

	E
	C
	L
	B
	Q
	R
	W
	O
	
	

	F
	E
	K
	D
	R
	T
	X
	S
	
	


Your reflector should simply perform a shift of 13 characters, so A maps to N, B maps to O, etc.

Your simulator should ask the user for the day code, the message code, and then the message. It should then output the full encrypted message, including the day code encrypted twice. Every time a letter is encrypted, your third scrambler should rotate one spot, in alphabetical order. (Once every 26 times, the second scrambler should rotate one spot.)

